5-Mb6-Lesson 24

Howard’s Baseball Camp welcomed 96 athletes on the first day of camp. Five-eighths of the athletes began
practicing hitting. The hitting coach sent —2— of the hitters to work on bunting. Half of the bunters were left-

handed hitters. The left-handed bunters were put into teams of 2 to practice together. How many teams of
2 were practicing bunting?
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How many teams of 2 can be made
from the left-handed bunters?
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gof96 =12 My tape diagram shows me th_at% of ali the
athletes are left-handed hitters practicing bunting.

Zl... |2

iZ2+Z=6
12 + 2 = 6, so there are 6 teams of 2 practicing bunting. }

There are 6 teams of 2 procticing bunting.

E@ RE“ Lesson 24 Make sense of complex, multi-step problems and persevere in solving A3

MATH’" them. Share and critique peer solutions.
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